P ke

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
PH5248' 05.06.1 ph201gk Il 24-MAR-05
Endines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11
9 CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876
SMALL | MEDIUM | LARGE
View My Cart

PH2848-03 Engine Control Module

Engine Control Module



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('ph201gk','/rtgraphics/english/parts/ph/2/ph201gk_sm.png');
javascript:swap_img('ph201gk','/rtgraphics/english/parts/ph/2/ph201gk_md.png');
javascript:swap_img('ph201gk','/rtgraphics/english/parts/ph/2/ph201gk_lg.png');

Engine Control System: DEI

ECM Version: CM570 P2

Module Location (mm):

X=336.2, Y=557.4, Z=311.5

Ambient Air Pressure Sensor

Included: Yes

Intake Manifold Temp Sensor

Manufacturer: Kavlico

1 S 631 Plain Washer 1/4 inch
2 146160 Plain Washer 5/16 in.
3 146161 Plain Washer 3/8 in.
4 3062329 Wire Tie Clamp
3085185 Temperature Sensor Intake manifold.
5 3037537 || O-Ring Seal
6 3085198 Temperature Sensor Intake manifold.
7 3093936 Hexagon Flange Head Cap Screw M10 X 1.50 X 90
8 3102651 Hexagon Flange Head Cap Screw M10 X 1.50 X 60
9 3161896 Studded Flange Cap Screw
10 3161910 Dataplate
3166309 Electronic Control Cooler
11 3335372 | Electronic Control Cooler
12 3335561 Insulating Washer
13 3335562 [ Ground Washer
14 3328687 Captive Washer Cap Screw M6 x 1.00 x 14.
3330141 Pressure Sensor Intake manifold.
15 3330142 | Pressure Sensor
16 3330159 || O-Ring Seal
17 3331044 Pressure Sensor Ambient Air




3349774 Electronic Control Module Wiring Harness
18 69465 Clip
19 69911 A Clip
20 107460 Clip
21 180372 Clip
4 3062329 Wire Tie Clamp
22 3068505 || Connector Wiring Retainer
23 3073750 | Clip
24 3349775 Electronic Control Module Wiring Harness
25 3613253 || Cavity Plug
26 3613537 | Protective Cover
27 3616615 | Electrical Connector
28 3616616 Electrical Connector
29 3654575 | Protective Cover
30 3654996 Electrical Connector
3408503 Position Sensor Cam or crank.
31 3046201 | O-Ring Seal
32 3408502 | Position Sensor Cam or crank.
3408504 Electronic Control Module
33 3408501 Electronic Control Module
** recon equivalent 3408501
rx **.
3417189 Pressure Temperature Sensor Qil.
16 3330159 || O-Ring Seal
34 3417190 Pressure Temperature Sensor
35 3818060 Captive Washer Cap Screw M10 X 1.50 X 25.
36 3821783 Captive Washer Cap Screw M8 X 1.25 X 20.
3865346 Temperature Sensor Coolant Or Qil Or Fuel.
37 3096153 || Temperature Sensor Coolant or Qil
38 4921574 | O-Ring Seal




39 3900679 Hexagon Flange Head Cap Screw M10 X 1.50 X 80.
40 3901445 Hexagon Flange Head Cap Screw M8 x 1.25 x 45
41 3902662 Hexagon Flange Nut M10 x 1.50
42 3903112 Hexagon Flange Head Cap Screw M10 X 1.50 X 30.
43 3903990 Hexagon Flange Head Cap Screw M10 X 1.50 X 20.
44 3906216 Hexagon Flange Nut M6 X 1.00.
3971634 Wiring Harness
45 3968999 | Electrical Connector Bracket
46 3971370 [ Wiring Harness
47 3977802 Electronic Control Module Bracket
48 4929302 Electronic Interface Module
49 4929303 Instruction Tag
4022870 Electronic Control Module Wiring Harness
50 4022860 Protective Cover
51 4022861 Protective Cover
52 4022869 Electronic Control Module Wiring Harness
53 4059818 | Clip
54 4059822 | Clip
55 4059823 | Clip
56 4059909 Heat Exchanger Support
57 4059910 Heat Exchanger Support
58 4903489 Coolant Level Switch
3163713 Electrical Connector Seal For Harness Listed Below

3163714

Electrical Connector Seal

For Harness Listed Below




4004571

Electronic Control Module Wiring Harness

4022868

Electronic Control Module Wiring Harness

4004501

Electronic Control Module Wiring Harness

3163715

Electrical Connector Seal

For Harness Listed Below

3099354

Electronic Control Module Wiring Harness

4059810

Electronic Control Module Wiring Harness

4004573

Electronic Control Module Wiring Harness

4022870

Electronic Control Module Wiring Harness

4059814

Electronic Control Module Wiring Harness

4004503

Electronic Control Module Wiring Harness

4059812

Electronic Control Module Wiring Harness



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

